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EEHHR SHAE F11E~SHAE F16H (3 14~424)

SR AR 3B 2B EEE] 538
EEERN K B 4 Z1138 | H128 | H13E | H14B | Hi158 | Hi6B
(3/14~3/20) (3/21~3/27) (3/28~4/3) (4/4~4/10) 4/11~4/17) (4/18~4/24)
1 (AT ILIH HwEH 1 1 0 0 0 0
R =y 0.01 0.01 0.00 0.00 0.00 0.00
RS™YA L AR E | HEHK 6 8 5 5 Ji 16
Easy| 0.13 0.17 0.10 0.10 0.15 0.33
R S A B BEY 0 0 0 0 0 1
z&2yYy | 0.00 0.00 0.00 0.00 0.00 0.02
ABGRILEL Y | BEH 14 18 12 9 11 9
KEREX | EamY| 0.29 0.38 0.25 0.19 0.23 0.19
R SRS BEH 130 80 101 71 86 11
Easy| 2.71 1.67 2.10 1.48 1.79 1.60
bk HEH 2 2 2 0 1
£ ##%)| 004 | 004 | 004 | 010 | 000 | 0.02
T |FRORK HEH 16 6 8 o 12 8
= Easy| 0.33 0.13 0.17 0.10 0.25 0.17
B AT BEH 0 0 2 1 0 2
z&2yYy | 0.00 0.00 0.04 0.02 0.00 0.04
EHIERLA BEH 16 11 15 13 16 19
a2yl 0.33 0.23 0.31 0.27 0.33 0.40
~NLRUE—F | BREH 0 2 0 2 1 1
z&2yYy | 0.00 0.04 0.00 0.04 0.02 0.02
FTHE TR | BEH 0 2 1 0 2 ]
z&2yYy | 0.00 0.04 0.02 0.00 0.04 0.15
R B I | BER 0 0 0 0 0 0
7 £m5Y|  0.00 0.00 0.00 0.00 0.00 0.00
T miTmsEx | BER 1 0 2 2 0 2
a4yl 0.08 0.00 0.17 0.17 0.00 0.17
G B o 5 0 0 2 0 0 0
za2yYy | 0.00 0.00 0.29 0.00 0.00 0.00
7 T P B 2 o 5 0 0 1 0 0 0
z&2yYy | 0.00 0.00 0.14 0.00 0.00 0.00
® |RAITSRM%| BER 0 0 0 0 0 0
23 g=2yY | 0.00 0.00 0.00 0.00 0.00 0.00
E|o3sTmx | BES 0 0 0 0 0 0
FoLmEErO | ExzY| 0.00 0.00 0.00 0.00 0.00 0.00
R E S o 5 0 0 0 0 0 0
@ao1LR) | Eagy| 0.00 0.00 0.00 0.00 0.00 0.00
L TNIUH e 5 0 0 0 0 0 0
(ABD) | EmZY | 0.00 0.00 0.00 0.00 0.00 0.00
T A
AVINIVY E S 76 SMAEA4827H 830 EADT—RIZHIKENTYT,
INBRIE S 48 XA L ERMEBELCBYET DT, SHORE
BRALE 12 HEDRRICHELT EFOEIRELLENBYET,
ABTS 7
& i 143




REFMEANIERNBREH-ERAVREHR
MR . SHAE F16E(4/18~4.24)

=
wxiEs| & Om & | B4 |#mEw| Bm | mm | mm | Rt | mm | s |[WE e |FEE
sy | AT LT BEH 0 0 0 0 0 0 0 30110110
R £&%Y| 0.00 | 000 | 000| 0.00| 0.00| 0.00| 0.00
RS A LA LS | BEH 5 0 0 6 5 0 16f| _ | _ | _
£a4Y| 045 | 000| 000| 055| 0.50| 0.00 | 0.33
R G ek s 30 R 0 0 0 1 0 0 1 3111 -
£&%Y| 0.00 | 0.00| 000| 0.09| 0.00| 0.00| 0.02
AREMMEL Y | BER 4 0 0 4 1 0 9 8|4l -
BEmeEs | EA%Y| 0.36 | 000 | 000 | 0.36 | 0.10| 0.00 | 0.19
Rt E S & |EH 7 10 2 10 32 16 77 20112 -
=y 064 ] 200 050 091 | 3.20| 229 | 1.60
|/|JE: K= wmEH 0 1 0 0 0 0 1 2 1 1
= £&%Y| 0.00 | 020 | 0.00| 0.00| 0.00| 0.00 | 0.02
= |FROMK REH 4 0 1 3 0 0 8 519 -
= £a4Y| 036 | 000 | 0.25| 027 | 0.00| 0.00| 0.17
AT HE | 1 0 0 1 0 0 2 2111 -
£a%Y| 0.09 | 000 | 000| 009 | 0.00| 0.00| 0.04
EHRMEFHLA | 5 2 0 6 1 5 191 | _ | _
gazy| 045 040 000 055 | 0.10] 0.71 | 0.40
AR x—F wmEH 1 0 0 0 0 0 1 6 2 _
£&%Y| 0.09 | 000 | 000| 0.00| 0.00| 0.00| 0.02
TITHEE TR WmEH 4 1 0 0 0 2 7 6 2 3
£a4Y| 036 | 0.20 | 000 | 0.00| 0.00| 0.29 | 0.15
R | SR | BEHR 0 0 0 0 0 0 Ofl 110 1| -
£t £&%Y| 0.00 | 000 | 000| 0.00| 0.00| 0.00| 0.00 '
T Imetemamg | BEH 0 0 0 2 0 0 2l g | 4| -
£&%Y| 0.00 | 0.00| 000| 0.67| 0.00| 0.00| 0.17
HE TR | 0 0 0 0 0 0 off _ | _ 1| _
£&%Y| 0.00 | 000 | 000| 0.00| 0.00| 0.00| 0.00
2 1 1 B o WL 0 0 0 0 0 0 ol _ 1| _ | _
£&%Y| 0.00 | 000 | 000| 0.00| 0.00| 0.00| 0.00
2 |[R1ATSR<R | BER 0 0 0 0 0 0 of1 _ | - | -
& £&%Y| 0.00 | 000 | 000| 0.00| 0.00| 0.00| 0.00
z;i PSS TR% REH 0 0 0 0 0 0 off _ | _ 1| _
FoLmEERO [ EA%Y| 0.00 | 0.00 | 0.00| 0.00| 0.00 | 0.00 | 0.00
Bt BB | 0 0 0 0 0 0 off _ | _ 1| _
(rey L) |EA%Y| 0.00 | 0.00 | 0.00| 0.00| 0.00| 0.00| 0.00
AT NIVH WEH 0 0 0 0 0 0 off _ | _ 1| _
(AR &4y 0.00 | 0.00 [ 000 | 0.00| 0.00| 0.00| 0.00 L
) il i
E S UEBBRLAILELYE
{INIH E A 18 8 8 17 14 11 76| ¥
INRRIE S 11 5 4 11 10 7 48
RBRES 3 1 1 3 2 2 12
HBESA 2 1 1 1 1 1 7
& it 34 15 14 32 27 21 143
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FRIEHRA OERRANFRER - ERBYREH
EEHNR: HHAE F16H4.18~4.24)

TE mAER = & & Fo% ~54H |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80/%k~
oy | AT | BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ER E=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
TE mAER = & % W ~558 |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20/%~
RSYALRB S BEH 16 0 6 Ji 3 0 0 0 0 0 0 0 0 0 0
ER%Y| 0.33 ] 0.00 | 0.13 | 0.15 | 0.06 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
IRERE B, BER 1 0 0 1 0 0 0 0 0 0
ER%Y| 0.02 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ABEAIMEL LY | BER 9 0 0 1 1 0 0 3 1 1 1 0 1
HEMWEX | E=%Y| 019 | 0.00 | 0.00 | 0.02 | 0.02 | 0.00 | 0.00 | 0.06 | 0.02 | 0.02 | 0.02 | 0.00 | 0.00 | 0.00 | 0.02
R B AR |EH 71 0 2 12 18 14 9 8 1 3 1 1 1 1 6
Em%Y| 1.60 | 0.00 | 0.04 | 0.25 | 0.38 | 0.29 | 0.19 | 0.17 | 0.02 | 0.06 | 0.02 | 0.02 | 0.02 | 0.02 | 0.13
n ke BER 1 0 0 0 0 0 0 1 0 0 0 0 0 0
';; ER%Y| 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
® |FRORK BER 8 0 1 3 2 1 0 0 0 0 1 0 0 0 0
& Em%Y| 017 1 0.00 | 0.02 | 0.06 | 0.04 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00
R MEATBE BER 2 0 0 1 0 0 1 0 0 0 0 0 0 0 0
E=%Y| 0.04 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
EHEHLA BER 19 0 3 13 1 1 1 0 0 0 0 0 0 0 0
ER%Y| 040 ] 0.00 | 0.06 | 0.27 | 0.02 | 0.02 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ALV E—F | BER 1 0 0 1 0 0 0 0 0 0 0 0 0 0
ER%Y| 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
FITHE TRA | 85 Ji 0 0 0 0 2 1 2 1 0 1 0 0 0
E=%Y| 0.15 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.04 | 0.02 | 0.04 | 0.02 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00
TE mAER = & & Fo% ~54H |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70k~
| AN RS 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B Em%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.OO | 0.00 | 0.00 | 0.00 | 0.00 | 0.OO | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T Imiimms | BER 2 0 0 0 0 1 0 0 0 0 1 0 0 0 0
E=%Y| 017 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
TE mAER R Fo% (o) 1~4 5~9 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70k~
METERE R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ER%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
SRR BER 0 0 0 0 0
ER%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
x |[R1ATSRMH BEY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&% Em%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T ossUTms BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
GoLmERO | ®=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
R B BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
@512 | ®=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AUILIVYE | BEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(ABD)| E=ZY | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00




